
Home » SCT » SCT RCM-CQC 2-Gang Mounting Solution for Cisco Quad Camera Instruction Manual 

Contents
1  SCT RCM-CQC 2-Gang Mounting Solution for Cisco Quad
Camera
2  Product Information
3  Included Parts
4  Parts Not Included
5  Product Usage Instructions
6  INCLUDED PART LIST
7  ASSEMBLY INSTRUCTIONS
8  Documents / Resources

8.1  References
9  Related Posts

SCT RCM-CQC 2-Gang Mounting Solution for Cisco Quad Camera

Product Information

The RCM-CQCTM is a 2-Gang Mounting Solution designed specifically for the Cisco Quad Camera. It allows for
easy installation and mounting of the camera in a secure and convenient manner.

SCT RCM-CQC 2-Gang Mounting Solution for Cisco Quad
Camera Instruction Manual

Manuals+ —  User Manuals Simplified.

https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/sct
https://manuals.plus/sct/rcm-cqc-2-gang-mounting-solution-for-cisco-quad-camera-manual.pdf


Included Parts

No. 1 Camera Plate, 813-1109 (Qty 1)

No. 2 RCM Wall Plate, 813-1109 (Qty 1)

No. 3 6-32×1/2, Slotted Screw, White, 860-0014 (Qty 4)

No. 4 6-32×3/8, Pan Head Torx Screw, 860-0031 (Qty 2)

Parts Not Included

No. 5 2-Gang Electrical Box (Qty 1)

No. 6 Cisco Quad Camera (Qty 1)

Product Usage Instructions

1. Attach the RCM Wall Plate (No. 2) to the 2-gang electrical box (No. 5) using the provided 6-32×1/2 white

slotted screws (No. 3). You will need to use four of these screws.

2. Attach the Camera Plate (No. 1) to the RCM Wall Plate using the provided 6-32×3/8 pan head Torx screws (No.

4). You will need to use two of these screws.

3. Finally, attach the Cisco Quad Camera (No. 6) to the Camera Plate.

For any further assistance or inquiries, please contact Sound Control Technologies, Inc. at 203-854-5701 or visit
their website at www.soundcontrol.net.

RCM-CQC™ 2-Gang Mounting Solution for Cisco Quad Camera

INCLUDED PART LIST

No. 1 Camera Plate, 813-1109 (Qty 1)

No. 2 RCM Wall Plate, 813-1109 (Qty 1)

No. 3 6-32×1/2″, Slotted Screw, White, 860-0014 (Qty 4)

No. 46-52×3/8″, Pan Head Torx Screw, 860-0031 (Qty 2) Pan Head Torx Screw. 860-0031 (Qtv 2)

No. 5 2-Gang Electrical Box (Qty 1)

No. 6 Cisco Quad Camera (Qty 1)

ASSEMBLY INSTRUCTIONS

STEP 1: Attach RCM Wall Plate (No. 2, Qty 1) to 2-gang electrical box (No. 5, Qty 1) using 6-32×1/2″ white slotted
screws (No. 3, Qty 4).

http://www.soundcontrol.net


STEP 2: Attach Camera Plate (No. 1, Qty 1) to RCM Wall Plate using 6-32×3/8″ pan head Torx screws (No. 4. Qtv
2).

STEP 3: Attached Cisco QuadCam (No. 6, Qty 1) to Camera Plate.



SOUND CONTROL TECHNOLOGIES, INC. | 203-854-5701 |
WWW.SOUNDCONTROL.NET

Documents / Resources

SCT RCM-CQC 2-Gang Mounting Solution for Cisco Quad Camera [pdf] Instruction Manual
RCM-CQC, RCM-CQC 2-Gang Mounting Solution for Cisco Quad Camera, 2-Gang Mounting S
olution for Cisco Quad Camera, Mounting Solution for Cisco Quad Camera, Cisco Quad Camer
a, Camera

References

 Home - Sound Control Technologies

Manuals+,

http://www.soundcontrol.net
https://manuals.plus/m/5affda75e6f4c77231bed2426e4fe4a20104fa87bc3a86abc11d175939670777
https://manuals.plus/m/5affda75e6f4c77231bed2426e4fe4a20104fa87bc3a86abc11d175939670777_optim.pdf
http://www.soundcontrol.net
https://manuals.plus/

	SCT RCM-CQC 2-Gang Mounting Solution for Cisco Quad Camera Instruction Manual
	SCT RCM-CQC 2-Gang Mounting Solution for Cisco Quad Camera
	Product Information
	Included Parts
	Parts Not Included
	Product Usage Instructions
	INCLUDED PART LIST
	ASSEMBLY INSTRUCTIONS
	Documents / Resources
	References



